R RIAERIREE (253])

SHIRTER TR 30




(rEEtRIER S R R EIR S 5 #E18?

;J\’-’F.

% (12) &
vy o 1}(22%&

J 8k 3% %A

JF SR AE I TR
PN S

_ ;ﬁﬁgﬂ»



10. KT F L2~ A BN 865K, ERELKTBRE, B [
ABRWKRERAH S, BARREAE AR % Vk? (e
%%f%ﬁ&ua,tg%fk A )

K T T ~
EX P 4 r_sﬁ -( 86 )ik
7 oK |

(86-2X8) =2 (86+2X8) =2 86—=2-8

= (86-16) =2 = (86+16) =2 =43-8

=7o;2 =102+2 =35 (5K)

=35 (3 =51 (3§) 86-2+8

¢ _6;1'3 51-16=35 (5K) =43+8

S =51 (k)

D

B



By o
el B
11. ¥ . Z. 75 3A88E495F % | —_?Fﬁﬁzmiikﬁﬁifb%/riah 7
M, LEZEATT 3D E, FETFARFZIL L Z T8 $45
%71:@ ﬁfﬁﬁmiéﬁ%iﬁ:ﬁfiﬂ Z T K/BF?

f M B S AR YRR = e s Pk | RESEE R

FhFR T, BHFEDT

e22477 (3 ) AEt D2ATH] 45FK
- R N [ I S

LN J

2TH ( 495 ) F %

495-45=450(TK) (B ELTHD  (495-45) = (3+3)

450 -+ 2=225 (%) (3/hBEZATI)) =450 + 6

o =
X




13. F—AK60K., 40k KkFH & |
Yo, wRBICTERESY LS

@AE P 3 7 R a

? Sk
60 x 60 — 40 x 60 (60 —40) x 60
= 3600 — 2400 = 20 x 60
[ =1200 (FZ % ) = 1200 (-7 k)

Ny : F W



m

rl%% .

14, EBFA—KE 30 BEGKFHBHMK, RMZKHSHEER W
T— AR KW EFHHCDM, #TFHKe @42 360 F5
X, REABRGBREZS VY FHFER?

30)E K 125 K 30X 30+360

=900+360
=1260 (CFHJEK)

360 —30=12 (JEX)

30 +12=42 (EX) K
42 X 30=1260 CEHEX) [




< O

? Ik




&%‘ -
SR 4
15—k FHER, HENGERCERG—LEE8F |

AR, EROIAFFTRAFER. INKBAHASZ S FHZR?

ML

—

L

~ 14+8=22 (PR HimH

& Q!{SZ,Z‘XaZ 44 CEHK) MR
,'/ %

FatH®




